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BT 4 | A 5K 7 % > mpT 4 | M 3R 7 = = myOT 4 | %K ) 7 P myOT 4 | 3 7 = =
w1 T H 245 275 283 558 | 4 WHAT5 T H 524 595 602 1,197 % BT 7 T H 1,242 1,613 1, 460 3,073 | A A3 H 216 275 266 541
B W 2T B 380 407 406 813| T » WEMT6 T H 382 408 423 831|%r BT 8 T H 507 627 617| 1,244 |/h | 4,505| 5,340| 5,403| 10,743
B w3 T A 290 349 339 688 s 9,423| 10,752 10,640 21,392(# BT 9 T H 1,012 1,208 1,095 2,303| f=E1TH 99 107 106 213
FE4ET1T B 153 159 138 297 |k IE 587 646 677 1,323;RSHT1 T H 127 119 114 233| RE2T H 317 370 380 750
P45 ET2 T B 96 82 84 1665 L HT 1 T H 316 406 386 792K )5 B2 T H 350 386 391 T ZRE3TH 268 309 335 644
P4 ET3 T B 127 151 174 325|% W72 T H 603 700 672 1,372 5 8,680| 10,536| 9,638 20,174 " f2R4T H 125 127 144 271
£ L HT 282 270 290 560|% BT 3 T H 1, 464 1,512 1,438| 2,950 W0 BT 1T H 792 900 876 1,776 “{RE5T H 92 116 120 236
N HT 414 427 442 869|% T4 T H 762 807 757 1,564 |30 AT 2 T H 289 371 332 703[3R H 1T H 76 80 79 159
fip L) 214 215 229 444k M1 T H 796 926 895 1,821 ({0 BT 3T H 232 265 268 5333 2 T H 125 145 145 290
1= T 132 123 138 261K P9 2 T H 328 412 404 816 [{T i M 4 T H 730 729 715  L444|R 3 T H 123 129 107 236
* F W 176 216 216 432k 4 3 T H 684 832 864 1,696 {r] J0 BT 5 T H 725 737 732 1,469 |4 & A W7 181 168 199 367
= fF HT 452 472 519 991 |t i 419 390 455 845 BT 6 T H 1,239 1,351 1,317  2,668(f & 1 T H 60 52 54 106
K o WE OHT 513 552 566 1, 118|#& 52 418 506 545 1,051 ({0 BT 7 T H 1, 101 1,084 1,147 2231|182 T H 71 78 75 153
W/ kT 317 316 329 645 A B F 1T H 271 332 334 66670 BT 8 T H 799 877 735  1,612|80 &l 36 60 76 136
KB HET 522 574 559| 1,133| K% F2 T H 241 330 340 670 (T D BT 9 T H 940 880 968|  1,848|/h FH 1,573 1,741 1,820 3,561
HmEfiE1T H 217 219 239 458(4 FF 1 T H 511 734 704| 1,438 | A ET10 T H 869 787 751 1,538(% [ 1 T H 394 279 315 594
HmEfnHE2T H 275 306 327 6334 F 2 T H 104 140 123 263 Ea 7,716 7,981 7,841 15,822|% [ 2 T H 87 98 92 190
HmEfiHE3T H 303 374 385 7594 F 3 T H 329 449 409 88|k & 1 T H 185 201 213 414|855 [ 3 T H 245 183 179 362
Ft 5,108| 5,487| 5,663 11,1504 ¢ 4 T H 559 743 702 1,445 |88 #& 2 T H 983| 1,306 1,228| 2,534/ K1 T H 88 119 96 215
By AET 1T H 237 275 284 5594 3 5 T H 469 636 626 1,262\ 16 3 T H 343 434 438 872|/h & R2T H 49 57 57 114
By AmT2 T H 365 415 413 828 s 8,861| 10,501| 10,331 20,832|4 # 1 T H 1,338 1,497 1,503|  3,000|/h&AK3T H 175 218 215 433
B KET3 T H 211 277 264 541 | F M1 T H 475 444 525 969|454 # 2 T H 989 1,102 1, 180 2,282|/Nr A4T H 234 186 243 429
El1TH 685 698 712 L4 F M2 T H 812 780 839 1,619(4 # 3 T H 876 991 977 1,968/~ AR5 T H 74 76 93 169
Ei2TH 724 881 862 L7T43| W & M3 T H 1,079 1,097 1, 100 2,197(4 H#H 4 T H 0 0 0 O R 1T H 275 185 255 440
EMWM3TH 387 514 524 1,038|: & M4 T H 717 681 675 1,356(4 #H 5 T H 180 54 158 22| R 2T H 256 303 290 593
Ei4TH 789 849 960 1,809\ & M5 T H 980 959 969 1,928 G 4,894 5, 585 5,697 11,282(H R 3 T H 344 204 324 528
EW5TH 529 543 547 1,090 |3 & M6 T H 394 444 406 850 |/ | 52,408 58,673 57,772 116,445/ G 2,221 1,908 2, 159 4,067
E e T H 154 202 216 418\ » i1 T H 412 453 447 90014 1 T H 351 430 395 825(p A 1 T H 249 194 267 461
EW7TH 492 532 476 1,008#% » fi2 T H 794 707 836 1,543)00 2 T H 418 470 487 957|p A 2 T H 394 275 298 573
E 8T H 273 304 307 611|Af [ BT 1 T H 332 413 387 80014 3 T H 439 546 540 1,086 A 3 T H 108 128 126 254
EW9TH 3 4 3 7|6 [ BT 2 T H 704 808 810 1,618(Ffn HHET 1T H 220 263 259 522 A4 T H 61 58 56 114
KHET1TH 308 357 351 708 |fifi i BT 3 T H 559 594 539 1,133(Ffn HET2T A 282 337 348 685(m A 5 T H 73 72 75 147
RKHEWT2T H 358 342 319 661 |ffi [E BT 4 T H 468 451 429 880|#F #% 1 T H 153 201 201 402|p% A6 T A 36 46 47 93
RKHEBT3T H 315 409 378 787 Gl 7,726 7,831 7,962 15,793 (HF #F 2 T H 165 196 221 417\ A7 T B 70 84 83 167
K HEWT4T H 304 378 378 7568 BT 1 T H 1,170 1,417 1,312  2,729|#F %% 3 T H 174 223 210 433|pk A8 T A 99 121 94 215
K HEHBTS T H 308 348 368 7168 BT 2 T H 760 965 820 1,785 |HE #F 4 T H 216 253 249 502 [/ 2 1,090 978 1,046| 2,024
T WERT 1T H 661 753 765 1,518[8r #] 3 T H 1,517 1,715 1,509 3,224\ # 5 T H 502 625 649 1,274 (H & pr & & 9,389 9,967 10,428 20,395
T WHET2 T H 543 637 614| 1,251|% ®T 4 T H 713 836 802 1,638(HE 45 6 T H 504 657 584| 1,241 |4 2 61,797| 68,640| 68,200 136,840
T WERT3 T H 401 499 439 938[¥r T 5 T H 1,185 1,523 1,392 2,915 |4l AR BT 1T H 371 438 438 876
T WERTA T H 470 532 435 967(%¥r BT 6 T H 97 127 126 263|fh AR 2 T H 494 426 556 982




